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RZPHE

20245 48 1HM 20254 3A31IBET

(G- 1)
# B FEE REETEEE R
I —RRIERREAEIZRI DA
1. BEBEOE
(1) FERR
AR EERL 2,691,100 2,936, 899 A 245,799
R EZEFIS 2,691,100 2,936, 899 A 245,799
ZMEE 2,500, 000 2,500, 000 0
Eh=EXMEE 2,500, 000 2,500, 000 0
fth =5t o DIEAKE 2,000, 000 0 2,000, 000
R EIREEE 2,000, 000 0 2,000, 000
FEUN AR 48 18 A 30
ZHELF R 48 18 A 30
EEI A 7,191, 148 5,436,977 1,754,171
(2) BEER
EXE 8,573,634 9, 054, 360 A 480, 726
BN % 3, 700, 000 3, 700, 000 0
HBHFEY 2,232, 685 2,149,940 82, 745
et 831,418 1,308, 140 A 476,722
RHELEE 154, 960 154, 895 65
REZBE 460, 834 480, 698 A 19, 864
BIEEWRE 178, 815 167,180 11, 635
HFEME 221,955 261,170 A 33,215
LEELRE 171, 600 171,600 0
EBHEERE 239, 460 231, 855 1,605
EHE 154, 322 154, 322 0
X F A 17,160 10,070 A 52,910
HE 204, 425 204, 490 A 65
EHEE 2,119,710 2,980, 090 A 200, 320
X b B R 670, 000 900, 000 A 230,000
BTy 1,202, 215 1,157, 660 44, 555
BAELEE 83, 440 83, 405 35
E 160, 480 180, 920 A 20,440
REXBE 103, 950 62, 370 41, 580
BIEEWRE 96, 285 90, 020 6, 265
HEME 122, 745 140, 630 A 17,885
LEELRE 92, 400 92, 400 0
EBRmEERE 128, 940 124, 845 4,095
X F A 9,240 31,130 A 28,490
HE 110,075 110, 110 A 35
REE R 11, 353, 404 12, 034, 450 A 681, 046
ST ff $8 2 S5 5F B AT 4 AR H 1R AR A 4,162, 256] A 6,597,473 2,435, 211
EARBRETMIERF 0 A 3,813 3,813
8 Fat 0 A 3,813 3,813
LR EIRREE A 4,162, 256] A 6,601, 286 2,439, 030
2. REIMERDER

(1) REESIREE
RESMRIEET 0 0 0

(2) BENEH
RENERAG 0 0 0
LERRE SMERER 0 0 0
L —ARIERREA E IS RIEE A 4,162, 256] A 6,601, 286 2,439, 030

I $5% IERREAERRDER

—RRIERREAEE~ DR EEE A 2,000, 000 0[ A 2,000,000
2 $A 16 TE I Bk B4 7 1R IBAE A 2,000,000 0 A 2,000,000
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(B 1)
# B NEEMERER EARE &t
I —RRIERREAEIZR D&
1. BEBBEOE
(1) FEIRR
AR EER L 522,000 2,169,100 2,691,100
AR EZEFIS 522,000 2,169,100 2,691,100
ZME 2, 250, 000 250, 000 2, 500, 000
E=EXMEE 2, 250, 000 250, 000 2, 500, 000
fth =5t o DIEAKE 0 2,000, 000 2,000, 000
ZIEFFEIREEE 0 2,000, 000 2,000, 000
FEUN AR 0 48 48
ZHELF R 0 48 48
EEI AT 2, 172,000 4,419, 148 7,191, 148
(2) BEER
EXE 8,573,634 0 8,573, 634
BN % 3, 700, 000 0 3,700, 000
HBHFEY 2,232, 685 0 2,232, 685
et 831,418 0 831,418
RAELEE 154, 960 0 154, 960
REZBE 460, 834 0 460, 834
BIEEWRE 178, 815 0 178, 815
HEME 221,955 0 221, 955
LEELRE 171, 600 0 171, 600
EBHEERE 239, 460 0 239, 460
EHE 154, 322 0 154, 322
X F A 17,160 0 17,160
HE 204, 425 0 204, 425
EEE 0 2,119,710 2,779,770
X B R 0 670, 000 670, 000
BTy 0 1,202, 215 1,202, 215
BAELEE 0 83, 440 83, 440
E 0 160, 480 160, 480
REXBE 0 103, 950 103, 950
BIEEWRE 0 96, 285 96, 285
HEME 0 122, 745 122, 745
LEELRE 0 92, 400 92, 400
EBRmEERE 0 128, 940 128, 940
X F A 0 9,240 9,240
HE 0 110, 075 110, 075
REE R 8,573,634 2,119,710 11, 353, 404
STl $8 2 S5 5F B AT S AR H 1R AR A 5,801,634 1,639,378] A 4,162, 256
Bl ety 0 0 0
LR EIRREE A 5,801,634 1,639,378] A 4,162, 256
2. REIMERDER

(1) RBESIREE
RESMRIEE 0 0 0

(2) BENEH
RENERG 0 0 0
LR E SMEREE 0 0 0
fth = &+ R EE AT 2 24 — AR IE R BA EE 1B IRUEE A 5,801,634 1,639,378] A 4,162, 256
L — AR IERREA E IS RIEE A 5,801,634 1,639,378] A 4,162, 256

I fEEEREEZROHE

—RRIERREAEE~ DR EEE 0] A 2,000,000 A 2 000 000
2 HA 16 TE I Bk B4 7 1R IR AR 0f A 2,000,000 A 2 000000




